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13.

14.

&

16.

17.

18.

19.

20.

21.

The Asian Games are organized after every

(B) 3
(D) 2

Which state is called the “Cradle of
Buddhism” ?
(A) Maharashtra
(C) Delhi

(B) Sikkim
(D) None of these

How many Home Rule Leagues were formed
in India in 1916 ?

(A)S (B) 11

© 9 D) 2

The Royal Indian Navy was established in—
(A) 1934 (B) 1930

(C) 1947 (D) 1950

The play ‘Neel Darpan’ was written by—
(A) M.G Ranade

(B) Deen Bandhu Mitra

(C) Raja Ram Mohan Roy

(D) None of these

What was the original name of Tansen ?
(A) Makaranda Pande

(B) Baz Bahadur

(C) Ramtanu Pandey

(D) None of these
The state animal of Uttarakhand is—
(A) Cow (B) Lion

(C) Elephant (D) Kasturi Mrag
When did famous ‘Gauchar Fair’ started ?
(A) 1951 (B) 1943

(C) 1947 (D) 1971

Alaknandarivers meetsthe........ at Nandprayag.
(A) Yamuna (B) Ganga
(C) Nandakini (D) Ramganga
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22.

23.

24.

. 285,

26.

27.

28.

g 7

Garhdesh Seva Sangh was organised by—
(A) Sridev Suman

(B) Badri Dutt Pandey

(C) Rampal

(D) None of these

The birth place of singer Lata Mangeshkar is—
(A) Mumbai (B) Colcutta
(C) Indore (D) Delhi

Who died after 87 days hunger strike ?
(A) Indramani Badoni

(B) Molaram

(C) J. P. Saklani

(D) Sridev Suman

The Irrigation Minister in Uttarakhand Govt. is—
(A) Harish Rawat

(B) Yashpal Arya

(C) Harak Singh Rawat

(D) Preetam Singh

When Kumaun Parishad was merged with
the congress ?
(A) 1926
(C) 1947

(B) 1901
(D) None of these

Happy Club was formed in 1903 by—
(A) Rajendra Prasad

(B) Mukandi Lal

(C) Pt. Govind Ballabh Pant

(D) None of these

What was the State Symbol of Chand dynasty ?

(A) Lakshmi (B) Saraswati
(C) Shiv (D) Cow
Lalmandi Fort is also known as—
(A) Red Fort

(B) Fort Moyra

(C) Fort William
(D) None of these
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30.

3L

32,

33.

34.

3s.

36.

31.

Bhagnath temple is located at—
(A) Bageshwar

(B) Pithoragarh

(C) Chamoli

(D) Udham Singh Nagar

Home Rule League was established in
Almora in—
(A) 1913
(C) 1916

(B) 1914
(D) None of these

Recently Tom Moore passed away. He was
a/an—

(A) Journalist
(C) Singer

(B) Actor
(D) Cartoonist

Which space agency has developed GSLV
Mark - 11T ?
(A) NASA
(C) ISRO

(B) CNSA
(D) DRDO

Who won the British Open Golf title for
201572

(A) Tom Watson
(C) Rory Mcliroy

(B) Zach Johnson
(D) None of these

Major Dhyan Chand is associated with which

game ?

(A) Cricket (B) Hockey

(C) Golf (D) Table Tennis
Which country will host 2022 Winter
Olympics ?

(A) China (B) Russia

(C) Canada (D) None of these

Recently Ravichandran Ashwin was
presented the ............ Award.

(A) Veer Chakra

(B) Dronacharya Award

(C) Arjun Award

(D) None of these
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38.

39.

40.

41.

42.

43.

44.

45.

Which country has set up the world’s first
unmanned factory that is operated by robots ?
(A) India (B) Japan
(C) Germany (D) China

Recently Clive Rice passed away. He was the
former cricket captain of —

(A) England (B) Australia

(C) South Africa (D) None of these

Which state government has appointed
Parineeti Chopra as its brand ambassador for
the “Beti Bachao, Beti Padhao™ campaign ?
(A) Gujarat (B) Haryana

(C) Madhya Pradesh (D) None of these

Who referred Gandhiji as the “Father of our
Nation”—

(A) Subhash Chandra Bose

(B) Jawahar Lal Nehru

(C) Motilal Nehru

(D) None of these

Who started the work of census ?
(A) Lord Mayo (B) Lord Clark
(C) Lord Ripon (D) None of these

When was the Indo-China Panchsheela Pact

signed ?
(A) 1951 (B) 1952
(C) 1947 (D) None of these

Where did the Jallianwala Bagh Massacre
occur ?

(A) Jalandhar (B) Amritsar
(C) Ludhiyana (D) None of these
Who proposed the communal law ........ ?

(A) Lord Minto (B) Lord Attilee
(C) Lord MacDonald (D) None of these
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46.

47.

48.

49.

50.

§1.

52.

53.

Temperature and amount of precipitation are
used to describe— :

(A) Lattitude (B) Clouds -

(C) Surface current (D) Climate

Why does the equator experience high
temperature year round ?

(A) It has a high latitude

(B) The sun’s rays hit it directly

(C) BothA& B

(D) None of these

Nathpa Jhakri Hydel Power Project is located

(A) Satlyj (B) Ganga

(C) Yamuna (D) Brahmputra

In the hydrological cycle evaporation is
preceded by—

(A) Clouds (B) Precipitatia

(C) Heat (D) None of these
The concept of the Geographical Pivot of
History was proposed by—

(A) Martin (B) Ratzal

(C) Kropotkin (D) None of these

Plotting of inaccessible point on a plane table
is done by—
(A) Radiation
(C) Intersection

(B) Traversing
(D) None of these

Dioptor is the power of lens having focal
length—

(A) 10 cm (B) 100 cm

(C) 1000 cm (D) None of these
The slope correction for a 3° slope for a
length of 100 m is—

(A) 1.14m (B) 1.12m
(C)1.13m (D) None of these
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54.

55.

56.

57.

58.

Arial photographs are—

(A) Perspective projection
(B) Orthographic projection
(C) Isometrics

(D) None of these

The first reading from a level station is—
(A) Back sight

(B) Fore sight

(C) Middle sight

(D) Intermediate sight

Match the following List I and List Il and select
the correct answer by using code given below—
List I List IT
(a) Topographical (1) Used fordetermining
surveys . the absolute location
(b) Cadastral surveys (2) Used topreparemaps
: of water bodies
(¢) Hydrographic (3) Used for revenue

surveys maps
(d) Astronomical (4) Used to depict
surveys the topography of
the terrain
Code:
@ & o @
A) 4 3 2 1
By 1 Z 3 4
© 1 3 4 2
D) 4 1 2 3
The angle of intersection of a contour and a
ridge line is—
(A) 30° (B) 90°
(C) 60° (D) None of these

The chord of a curve less than peg interval is
known as—

(A) Sub chord (B) Short chord

(C) Small chord (D) Normal chord
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60.

61.

62.

63.

64.

65.

66.

In chain surveying, perpendicular to chain
line are set out by—

(A) Alevel

(B) A theodolite

(C) A prismatic compass

(D) An optical square

For indirect ranging, number of ranging rod
required—
A) 2
€ 4

(B) 3
D) 5

Planimeter is used for measuring—
(A) Length

(B) Area

(C) Volume

(D) Slope

For enlarging maps the instrument use
is—

(A) Clinometer
(C) Sextant

(B) Planimeter
(D) Pentagraph

If the scale of map is 1 : 10000, showing
1 km of map, the distance will be—

(A) 1em (B) 10cm

(C) 100 cm (D) 0.01 cm

For 30 m chain, the radius of simple curve is
1000 m. The degree of curvature is—

(A) 3.44° B) 1.72°

€ 1° (D) None of these

Number of links per meter length of a chain
are—

(A) 2 B) 5

(©) 10 (D) 20

Which of the following have less unit weight—
(A) Basalt (B) Marble

(C) Sandstone (D) Granite
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67.

68.

69.

70.

71.

Which of the following are known as
silicious rock—
(A) Granite

(C) Limestone

(B) Laterites
(D) Slate

The slope of tensile stress-strain diagram
represents—

(A) Modulus of Rigidity

(B) Modulus of Friction

(C) Modulus of Rupture

(D) Modulus of Elasticity

Main constituent of portland cement is—
(A) Iron oxide )
(B) Lime

(C) Alumina

(D) Magnesium oxide

The ratio of different in gradients (cement,
sand, aggregate) in concrete mix of grade
M20 is—

(A)1:3:6
{3312

B)1:2:4
(D) None of these

The moment at the fixed end A of the loaded
beam given below is—
(where W = Total Load)

A’ L’ B
/
€ L =
WL WL
X 29 gt
WL WL
Qs ®) —

10
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73.

74.

75.

76.

Ti.

78.

A simply supported beam having point load
W at mid span. The slop at supports—

W12 W2
) 16EI ®) 48EI
WL2 WL2
© 6EI @) 8EI

The polar moment of Inertia of a solid
circular shaft of diameter D is—

aD* nD*
(A) oy (B) =
7D* 7D’
Py e

Elongation of a uniform rod due to self
weight W and length L—
(where A = Area of cross section)

WL o WL
(A) 5 &
© % (D) None of these

Mile stone chart is an improvement over—

(A) PERT (B) CPM

(C) Bar chart (D) All the above
An average value of coefficient of velocity is—
(A) 0.97 (B) 0.84

(©) 0.62 (D) 0.76

Type of brick masonary in which each course
of alternate header and stretchers is called as—
(A) Heading bond (B) Stretching bond
(C) Flemishbond (D) English bond

The inert material used for manufacture of
mortar and concrete is—

(A) Admixture (B) Aggregate
(C) Water (D) Cement
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80.
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83.

84.

85.

An angle of internal friction ¢ increase, the
coefficient of active earth pressure—

(A) Decreases

(B) Increases

{C) Remain same

(D) First increase than decrease

Flats are used as tension members in—
(A) Transmission Tower

(B) Suspension Bridge

(C) Roof Iruss

(D) Cable state bridge

To draw a small object, the scale
used is— :

(A) Isometric scale (B) Enlarged scale
(C) Reduced scale (D) True scale

The holding angle for ruling pen to draw
line—

(A) 30-40°
(C) 60-70°

(B) 50-60°
(D) 15-30°

Which of the following instrument is used
to draw a series of parallel and perpendicular
lines—

(A) T-square
(C) Set square

(B) Protector
(D) Clinograph

Which of the following instrument is used
to draw small circle in ink—

{A) Bow compass

(B) Drop compass

(C) Compass

(D) Small ink bow compass

Mini Drafter is a combination of—
(A) Only set square

(B) Scale & protector

(C) Set square & protector

(D) Scale, set square and protector
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(B) 39w ™

(C) F¥H

(D) B> W&l 5 FHY

it e 7! fre @ € 8-
(A) Fad YT TERR

(B) &hdl W ®IVl HIYH

(C) 92 @aX TS IV H9H

(D) &hdl, 92 WERR T§ HIU 99H
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86.

87.

88.

89.

90.

91.

2.

Dimension of A-3 size drawing sheet is—
(A) 210 x 297 (B) 841 x 1189
(C) 594 x 841 (D) 297 x 420

Solid which is generated by the revolution
of a rectangle—
(A) Cylinder
(C) Pyramid

(B) Sphere
(D) None of these

In third angle projection if the above VP is
placed to the right of the view obtained is
called—

(A) Top view

(B) Bottom view

(C) Right side view

(D) Left side view

A secondary auxiliary view is a projection
of the—

(A) Top view

(B) Front view

(C) Primary auxiliary view

(D) None of the above

in an isometric drawing tool should only be
used for placing—

(A) Vertical line (B) Circles

(C) Horizontal line (D) Polylines

Roughness of highways is measured using—
(A) Bump integrator

(B) Benklman beam

(C) Dynamic cone penetrometer

(D) Falling weight defloctometer

A rectangular open channel of width 5.0 m
is carrying a discharge of 100 m¥s. The
Froude no of the flow is 0.8. The depth of
flow in the channel is—

(A) 20 m (B) 16 m

(C) 8m (D) 4m
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SET-A
A-3 SFR &1 3@ Hie H1 9w am—
(A) 210 x 297 (B) 841 x 1189
(C) 594 x 841 (D) 297 x 420

arE & uftew ¥ fiftf 9 g -
(A) e (B) T .
(C) frufers (D) T ¥ & =&

AE v F&9 H I 3T - VPR 9 ®
Tt AR TEn W § df fre A sraeie
H FEd §-

(A) ¥ E@E

(B) T& STaciiT

(C) Tfet 3 &1 EeHA

(D) 9t R 1 TR

HEEE 3T TGS I8 TAHT YU YUH
e 8-

(A) ¥i¥ raai

(B) ST @A

(C) Wt IqTaeirE

(D) SWi=a & ¢ &l

T e § SHEe I| H SYEM
Had 3 FaeE | S =fer—

(A) o3 T@E  (B) 99

(C) ¥ve W@ (D) agtEn

TEH T GIEAT T STEM T A0 -
(A) YR GHEHH

(B) Sehera fawton

(C) sEfs HF WaHR

(D) frar 9R fewtaeniet

5 . =it et Te 100 m¥/s F fEw we
B TEE F W™S T 0.8 F TR T
I TS B
(A) 20 =t
(C) 8 Hi.

(B) 16 .
(D) 4 .
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93.

94.

95

96.

97.

98.

99.

100.

In the limit state of collapse in flexure the
ultimate strain in concrete is limited to—
(A) 0.0035 (B) 0.002

fy
(€) 0.002 + 175 E, (D) None of these

Plywood is made from—
(A) Common timber (B) Bamboo fiber
(C) Teak wood only (D) Asbestos sheet

PVC stands for—

(A) Poly vinyle chlorate
(B) Poly vinyle chloride
(C) Poly vinyle carbon
(D) None of these

Sheet is a material which is thinner than—
(A) 8 mm (B) 6 mm
(C) 5mm* (D) 10 mm

Which of the following scale is the larger one—
(A) 1ecm=50m  (B) 1:42000

(©) RF= 35000

(D) 1ecm=50km

A flow through long pipe at constant rate is
called—

(A) Steady uniform flow

(B) Steady non-uniform flow

(C) Unsteady uniform flow

(D) Unsteady non-uniform flow

IfL, B, D are length, breadth, depth of water
in a rectangular sedimendation tank of the
total discharge Q. The settling velocity is—

Q Q
&) HxL ®) pxm
© LSB ©) DSB

Maximum efficiency of BOD removal
activated in— ;
(A) Oxidation ditch (B) Oxidation Pond
(C) Aerated Lagoon (D) Trickling filter

93.
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